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|. Vocabulary: (20%)
1. He ___ hisopponentsin this election.

(A) fever (B) defeated (C) fiction (D) figure
2. He had better hurry if heisto makethe  for submitting his paper.

(A) debated (B) deal (C) deadline (D) decade
3. Dueto proper fertilization, agood __ of riceis expected this year.

(A) elected (B) efforts (C) harvest (D) haste
4. He __ the soup with pleasure.

(A) scanned (B) savored (C) sacred (D) scanda
5. The lecture on modern architecture tonight isopentothe . Anyone can go.

(A) public (B) advantage (C) colony (D) crowd

6. The __ of world population has changed dramatically during the last century. Millions of people
have moved from the countryside to the urban areas.
(A) distribution  (B) contribution ~ (C) construction (D) destruction
7. Scientists usually make several _ before they start to do experiments to test them.
(A) hypotheses  (B) mysteries (C) archives (D) documents
8. Thismanisquite . You never know what he will say or do next.
(A) unconditional (B) unpredictable (C) unbelievable (D) unfaithful
9. After years separation, | couldn't _ my best friend in high school when we met on the street by
chance.

(A) discover (B) testify (C) see (D) recognize
10. The scandal has seriously _ him in many peopl€’s eyes.

(A) exhausted (B) amazed (C) intimidated (D) diminished
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1. I like playing basketball, and .

(A) my brother does so, too. (B) does so my brother.

(C) nor does my brother. (D) so does my brother.
2. Had John tried harder, he __ the examination.

(A) would pass  (B) would have passed (C) will pass (D) passed
3. Mr. Wang has three daughters,  are nurses.

(A) of dl whom (B) and al of whom (C) dl of them (D) al of whom
4. It doesn’'t matter whether there is only coffeeor tea.  will do.

(A) Some (B) Any (C) Every (D) Either
5.You must make a conscientious effort to avoid __ the same errors

time after time.

(A) to repeat (B) to repeating (C) repeating (D) repeat

B. L (10%)
6. Buying clothes are often avery time-consuming practice because shoppers have to
A B
go from one store to another to choose those that fit them.
C D
7. Thesetelevisions are all too expensive for we to buy at thistime.
A B C D
8. Carl’s new sports car costs much more than his friend Joe.
A B C D
9. Itisdifficult to get used to Sleep in atent after having a soft bed_to lie on.
A B C D
10. Despite the roadlock, the police allowed us to enter the restricting area to
A B C
search for our friends.
D

[11. Cloze Test: (20%)

Passage A

There arefifty statesin the United States of America, and each oneis _(1) on the country’sflag by awhite
star. Today’sflag consists of five neat rows of ten starseach. But it was not always so.

The United States began with just 13 states, those being the original 13 coloniesthat _(2) Great Britainin
the Revolutionary War. Variousflags (3) 13 starsarranged inrowsor inacircle. Asthe country grew, new
states were organized from Indian territory, lands captured or purchased from Mexico, and finally the territories of
Alaska and Hawaii in January 3, 1959 and August 21, 1959, (4) .

1. (A) addressed (B) represented  (C) acquainted (D) reserved

2. (A) revolted against (B) backed (C) flirted with (D) dissolved into
3. (A) encouraged (B) concerned  (C) displayed (D) enacted

4. (A) respectively (B) respectfull  (C) respectably (D) disrespectfully

Passage B
Many reports have been _(5) on the conditions and rights of women throughout the world.  Some of the
news in the reports is very good. For example, 90 percent of all countrieshave _(6) organizations to improve the
lives of women. More than half of the countries have lawsto _(7) the rights of women, and 90 percent of all
countries have passed _(8) to give women equal pay for equal work. More than half of the women in the world
now have birth-control _(9) . Almost half of the children in school now are girls, abig change from the past,
because in many countries _(10) was not available to girls.

5. (A) submitted (B) published (C) proposed (D) issued

6. (A) officia (B) typical (C) office (D) domestic
7. (A) protest (B) project (C) protect (D) positive
8. (A) regulations (B) rules (C) lega (D) laws

9. (A) mean (B) power (C) methods (D) agriculture
10. (A) voting (B) food (C) education (D) school



V. Reading Comprehension: (20%)

Passage A

Today, approximately 591 million people are over 60 years old in the world. By 2020, this population will
grow to 1 billion. The phenomenon is referred to as “ population aging” and is a result of higher life expectancy and
lower birth rate. By 2020, the country with the highest percentage of aging population will be Japan (28%), fol-
lowed by Italy, Greece and Switzerland. Today, the “oldest” countries are Greece and Italy (both 24% in 2003).
Continent-wise, by 2020, Europe is projected to have 27% of its population to be 60 years or older. The projected
proportion elderly population will reach 23% in North America, 18% in Asia, 12% in Latin America, and 11% in
South Asia.

The rapidly growing absolute and relative numbers of older people presents a serious challenge to the public
health to provide more medical cares for chronic and debilitating diseases. The three major illnesses, circulatory
system diseases, cancers, and diabetes will be on steady increase along with the rise of aging population. Even now,
these non-communicable diseases already cast a large impact on economics. In 2003, according to the American
Heart Association, cardiovascular diseases in the U.S. cost US$ 158.3 billion, including medical treatment and lost
productivity from disability. Diabetes alone claims on an average around 9% of total health budgets in industrial
countries.

Besides the challenges faced by public health departments, the communities all over the world should also
prepare for providing quality social physical environment for the aging population.

1. Which of the following best expresses the subject of the above report ?
(A) health budgets and aging diseases (B) global population aging
(C) efforts to prevent aging (D) problems of getting old
2. Based on the above report, which of the following countries will probably become the “oldest” country in 16
years?
(A) Greece (B) Italy (C) America (D) Japan
3. The writer thinks that more medical care should be provided on the following diseases except
(A) diabetes and cancer (B) circulatory system diseases
(C) influenza and tuberculosis (D) heart attacks
4. Dueto therise of aging population, .
(A) medical quality will surely be reduced in order to strike a balance
(B) most aging citizensin the industrial countries will suffer from many diseases
(C) the American Heart Association will take measures to cope with the issue
(D) financial budgets will be increasingly spent on medical care for the elderly
5. According to the report, which of the following statementsis WRONG?
(A) Nowadays, more and more industrial countries begin to worry about the issue of getting aged.
(B) The future of human beings may be dampened owing to the threats of medical deficiency caused by aging
population.
(C) With the rise of aging population, the U.S. is the country to suffer the strongest impact on economics.
(D) It isimperative for people all over the world to get prepared to offer high standard environment for the aging
population.
Passage B

Years ago, some parents and health professionals became dissatisfied with ordinary hospital births, which put

all the responsibility for abirth in the hands of the physician. Their ideawas to give mothers, and even their hus-

bands, an activerole in the birth of their children. Now thisideais gaining acceptance around the world.

In the safety of a hospital, or at home with a professional midwife, more and more women are now having
their babies by “natural childbirth”. This concept involves pre-natal exercise and education, special breathing to
controlling contractions, and an attitude of mutual respect between the mother and her doctor.  If possible, no
drugs are used, so that baby and mother share the experience in a clear headed way. The husband, after attending
classes, isalowed to participate in the birth, reminding his wife of her breathing exercises and holding her as she
goes through the pain and excitement of birthing their child. Long popular in the United States and Europe, pro-
grams such as Lamaze and the Bradley Method, which train people for natural childbirth, are now well established
in Taiwan, as well.

6. According to the article, what is the main purpose of the “natural childbirth” movement?
(A) To increase the involvement of parentsin the birth of their children.
(B) To increase the American population dramatically.

(C) To promote the role of the physician in childbirth.
(D) To corner the market on hospital births
7. When are drugs used for natural childbirth?
(A) In most cases.
(B) After surgery.
(C) Throughout the operation.
(D) Only when necessary.

8. What relationship between mother and physician is recommended by proponents of natural childbirth?

(A) One of servant and master.
(B) One of mutual respect.

(C) One of playful competition.
(D) One of religious devotion.

9. Which of the following statementsis not true?
(A) The husband can participate in the birth only after he takes classes.
(B) Lamaze and the Bradley are famous programs of natural childbirth.
(C) Breathing training is an important part of a natural childbirth program.
(D) Natural childbirth is not known in Taiwan.

10. Which of the following is not a health professional ?
(A) The mother.
(B) The doctor.
(C) The midwife.
(D) The nurse.

V. Trandation: (20%)

1.
2.
3

4. Plants get nutrition through their branches.
5. Immigrants came to Americato seek better jobs more often than freedom.
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